B VCE & PDF https://lwww.geekcert.com/2v0-21-19.html
' 2024 Latest geekcert 2V0-21.19 PDF and VCE dumps Download
: GeekCert.com

2V0-21.199%As

Professional vSphere 6.7 Exam 2019

Pass VMware 2V0-21.19 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/2v0-21-19.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 2V0-21.19 Dumps | 2V0-21.19 Study Guide | 2V0-21.19 Braindumps 1/3


https://www.geekcert.com/2v0-21-19.html
https://www.geekcert.com/2v0-21-19.html
https://www.geekcert.com/2v0-21-19.html

VCE & PDF https://lwww.geekcert.com/2v0-21-19.html
2024 Latest geekcert 2V0-21.19 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which native feature could be used to protect virtual machine files and disks containing confidential customer data?
A. VMware Tools

B. vCenter HA

C. VM encryption

D. VDP

Correct Answer: D

QUESTION 2

Which migration technique could be used to move a VM between vCenters while the VM is powered on?
A. Suspended

B. Shared-nothing vSphere vMotion

C. Cold D. Storage vMotion

Correct Answer: D

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vcenterhost.doc/ GUID-
FE2B516E-7366-4978-B75C-64BFOAC676EB.html

QUESTION 3

Which policy is used for intelligent optimization of network interface traffic on a vSphere Distributed Switch (VDS)?
A. Route Based on IP Hash

B. Route Based on Source MAC Hash

C. Route Based on Physical NIC Load

D. Route Based on Originating Virtual Port

Correct Answer: C

QUESTION 4

VMs are violating affinity rules and DRS is unable to correct the rules violations.
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Which two actions should an administrator take to identify why DRS is unable to satisfy the affinity rules?

(Choose two.)

A. Review VM Overrides tab.

B. Review systems logs.

C. Review if violated rules are in vCenter VAMI.
D. Review Faults tab in DRS.

E. Review VM OS logs.

Correct Answer: AD

QUESTION 5

What is a benefit of using resource pools?

A. Increased visibility of user activity

B. Increased vMotion efficiency for a set of VMs

C. Increased accuracy for proactive resources for a set of VMs
D. Increased ease of reserving resources for a set of VMs

Correct Answer: D

Latest 2V0-21.19 Dumps 2V0-21.19 Study Guide

Latest 2V0-21.19 Dumps | 2V0-21.19 Study Guide | 2V0-21.19 Braindumps

2V0-21.19 Braindumps

3/3


https://www.geekcert.com/2v0-21-19.html
https://www.geekcert.com/2v0-21-19.html
https://www.geekcert.com/2v0-21-19.html
http://www.tcpdf.org
https://www.geekcert.com/2v0-21-19.html
https://www.geekcert.com/2v0-21-19.html
https://www.geekcert.com/2v0-21-19.html

